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SN

MM HASE MEOE
o9l 2IOXA(A2Z0IIZRY) (el &
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 %ggf; HRs2
= 15,288
i 10,192
OZojIRBHT Z01b| 114,004
= 91,200
= 13,680
i 9,124
o220 #HHI 28,727 28,727 0
= 28,727
101 eI d| 5,340 5,100 240
= 5,340
04 JIZtHZ22HSE+ 5,340 5,100 240
O21230f Z2lA ZU0ILI
20,0003 »2H 8L »12& 3,840
& 3,840
O2230f Z2IAl 220i8| 1,500
= 1,500
201 ZEt2FH| 13,787 18,827 25,040
= 13,787
01 AR 2t 2ldl 12,247 18,127 25,880
HIEE==1H 11,547
& 11,547
CEEENPEEE LRS-
0,000& x5H 23| 700
& 700
02 E=2ZHl 1,540 700 840
ORI YLEX W3 700
& 700
Ooz2=0 Atdl2el S&le=s 70,0003 «12& 840
= 840
202 oddl 9,600 4,800 4,800
= 9,600
01 =2 LHA bl 9,600 4,800 4,800
O2d==0¢ HRFE 20,0003 2F+20L+12& 9,600
= 9,600
olglgl s 10,000 0 10,000
801 aildlbl 10,000 0 10,000
01 oyl gl 10,000 0 10,000
ooyl gl 10,000
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